RN
50 ook Tt

[ ud wreafies Rragsh when (zam § ), 72021 )
A .
] =l A
0111
. - HTETH : W31 3% : 11:00 9 12:30
\J%3 : 32 W HTNT F T0Ta TROTTUT: 150 )

Ty iRt ArefavaTgel Ut @refier goHT Shresgdts are

(1) =1 geautehd g faum stea. cmdeht faam I oed gem v fosamardt 14 25 3 faumr 11 gy mifvra
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(7) ‘I 3rges At Faer o=ft ge fooean yereafaiEd sat goieh SeAmETdt uswa St adetd
Aigfaeiell IR I WSS He Aigfaeiel! Jcal UMl eRuATd AU ATEI.

(8) Usher Alefeiell ST graT sawdl UM ATEH.

(9) uHTaTER IR ATGIAATT ek hreeaT foham e T Sfeu-=m IR e, Ufie Aigfaeiel! 3cak UTel
TROAT YUTR ATEI.

(10) ¥TUbIehd Jedeh UHTER WTefl 9 A=l UHTa el 1T HIUATHIS! Hiched! ST 318, 4T e 1o
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(11) werm maifed 9e STHeI TETee YT 3cal JraTell I T8ead e Jed digal. e 9 fieat
Tfgeamd et IHTEE gl T HUET.

(12) w@TE YeATq I /Feh MEBATE ATeTed qaeieh fohal Tlier shgdearcsh ATedTehs fo=mun ®& 3.

(13) STt 3t/ / SnadTaneaas fegd s fohan urererit mefraronfesprt fohar freromfeeprt areamens
G TEETT | TTeadl Hetd WMeseAl AN Hed TS Tgdie dredrd.

(14) T /< /enereneae fFaed e Ugdid uefavarh gea wlen uRwdean Hehaederet Sidid
(eTeqeelt) Scateeh Ifiey seamared 10 (281) feawivdd e,

(15) Tguiers feham 3171 RO T Fehla STHAT GBI a3 | AU a5 ot hrefarer
EIASIETS

(16) o5 ATEAHTEST SIS WA JTAUTRT foeie! 377, oo AemTdid |iqe JeHTemed Sust J9- 8.
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fregeff wee steten AR ?
(1) &7 (2) %=
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11.

12.

13.

14.

15.

IS aed U HOIEE A aeErrE e U
T HATSaSd  ATedl Joreal wias= ...

(1) =mer@ e (2) @orTS s

(3) =« (4) Tt Swem@

Eeteh gt g¥N fawTd T wiowd 7

(1) Sl o, HHET Hohl. (2) <R 9, M.

(3) AR TG M UETen o1 (4) = THYEh §9 GEvad
TEATH Tl WA reg Shivrar ?

(1) wke (2) =Rl

(3) W& (4) oo

AET, AR, 3GeY, BEA™, UgHIY, HAU(GH, IR, THed, | A

YegHed THU TRl SISIER SATell 37Rd ?

(1) 36T (2) @@
(3) sm (4) qu
JElctieh! TEY Geft TEciedq IegE U IS :
(1) fercien (2) HoE
(3) uh (4) +a

W QUG AENH I IRl WIYure |l g9 Wt QU Irehe!.

I g g fRdt fomrwor steft smRa?
(1) =m (2) W=

(3) @A (4) o=
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o (3) =mah (4) gl
18. ‘weRfe dF did §F @E ohel. AT IEETGIA AUNRId wearl fawet siieEr:

(1) g (2) o

(3) @t (4) =geft

19. USSRl ‘orRde Hadl TANT STEUM AR 3TesE:
(@9 3k watE feer)
(1) STIId & <. (2) feawr fagmsin el
(

3) SRR kMR O Tdd. (4) AT AT HAT SeT= IS,

20. YUl IggmElgsh IWITSRl IR WSl Ay 9Te hiv 7
(1) 3" dad1 =8d; TeUd ANAHAR 30 UGH HIUT=l EUE hel.
(2) ¥@ IS AN AT; U 6 el g@red.
(3) UYdTH ¥ wEE A Bld; U B W] hdes YW YHIGLAE  FATGd
fge.
(4) q g SorEl Hasanr, @ R gem o
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22.
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24.

25.

Yo, fomn, W, 9, Y, dES SR GE-9W UR Whd IRl AT A

v Rt vhRe formfam eeft emRa?
(1) 3ms (2) U=
(3) =m (4) =

(1) ER (2) wEret

(3) dmaqe (4) Ty

‘FEAfTAR] AT AT AT RO ?

(1) 9, 9, &, S, W, T (2) =, 9, 9, I

(3) ¥, 7, 9 3, 7 (4) 9, 9 &, & 49, d, 7

‘gag o g’ 7 gEak il fafga?
(1) 9. &. 2wuE (2) T e
(3) Fa WO (4) 9. &. 3

‘Midewsy’ I1 YUHTIE HIME  3NSEA  ATd ?
(1) 91. U9 STt (2) W . TEHR{
(3) 9. . M (4) . @ AR
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26.

27.

28.

29.

30.

SECTION - II

MATHEMATICS
1 I _
a—b " h—a =7
1 (a—b)+(a—0b)
() a+b @ (a—0b)(b—a)
3) 1 4 0

The LCM of two co-prime numbers is 910 and their sum is 83. What will be
the difference between the two numbers?

(1) 57 (2) 60

(3) 81 4) 175

Two right angled scalene triangles are joined along their hypotenuse. Which of
the following figures will be formed? (Select two correct options)

(1) Rhombus (2) Kite

(3) Rectangle (4) Trapezium

60 /. milk contains 15% fats and 40 /. milk contains 8% fats. If these two milk
are mixed together, then what will be the % of fats contained in the mixture?

(1) 87.8 % 2 122 %

(3) 1220 % 4) 122 %
1 1 1

Find the value of : 27A >1</36AX181%

(1) 64 2577 400" Q) 5.4

(3) 0.54 (4)  0.064

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

30.

faam - 11
Tfora
1 1 _
— -+ b_a—ﬁo—cﬁ?
1 (a—b)+(a—0b)
(1) —=% (2) (a—b)(b—a)
(3) 1 (4) 0

T TEYes TEATET EId 910 3TgH T ST 83 TR, T A1 G T Bk fohet
PESN

(1) 57 (2) 60

(3) 81 (4) 75

T THEY fISHYS ShIceh TAhI0T U=l SN[ TScaTd @Ieiicidshl I TTehd! IR
e ? (M 31 T ferer.)

(1) =9 =rhA (2) wam

(3) s (4) wwoE dRH

60 T1eX guTd WeTge THI 15% 3R 9 40 1T guTd "olge THI 8% 3118, @ Giwal g4
Teha shed a7 Toeoma Aot gwor fomd) 318 ?

(1) 87.8% (2) 12.2%
(3) 1220% (4) 122%
fohmra Tt - 27" X/36VX§1V

(1) 64  25°x400°° (2) 5.4
(3) 0.54 (4)  0.064
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L
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e 31,

XE In a circle, the measure of a major arc is 60° more than double the measure of
7R T

frlafels) its minor arc. What will be the measure of its major arc?
L R

L5y 1) 100° 2)  300°
a0

HENE (3) 220° 4)  260°

Tl

RN

e

£33 |

LX¥ 32, Write the degree of the product of (x*—27) (x*+2x+2)
a0

EEE (1) 6 2) 5

3) 3 4) 2

33.  Which of the following options indicate the volume of a sphere?

(1) +x 273 @) Lx 4
3) 3% @ x 2

34. Rohit purchased a 3 year old used machine from Mohit for Rs. 8,57,375. If
the rate of depreciation is 5%, for how much did Mohit must have bought the

machine ?
(1) Rs. 10,00,000 (2) Rs. 12,00,000
(3) Rs. 8,00,000 (4) Rs. 9,00,000

35.  Which of the following are the factors of a trinomial?
(@ — by — 17 (a — b) — 60 ?

() (@-b-12) (a - b +5) 2) (a@a—-—b+12) (a—-b -5)

(3) (a@a-b+20) (a—->b-3) 4 (@a-b-20)(a—-b+3)
36. (3x+7) is an even number. What will be the square of ‘x’ from the following

options?

(1) 0Odd number (2) Even number

(3) Prime number (4) Twin prime number

SPACE FOR ROUGH WORK
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31.

32.

33.

34.

3s.

36.

Uh1 SqeaTd foRITel shETe A9, Hetfld Tgehar=al guenan 60° 4 Sed 8. @ fosma
HET AT fehcl ?

(1) 100° (2) 300°

(3) 220° (4) 260°

(03 —27) (x + 2x + 2) T TGIGISAT USRI el foAaT.
(1) 6 (2) 5
(3) 3 (4) 2

(1) Lx2mr (2) fxamr

(3) 5 (4) xr

Ufga Aifgdehgd 3 a9 aTodd 94 I 8, 57,375 9™ fashd odel. s@m=am=n &
THLEN. 5% UL O Hifga- 9 I ford ! FUATAT el 378 ?

(1) 10,00,000 &9 (2) 12,00,000 &9

(3) 8,00,000 &7 (4) 9,00,000 &=

(a—b)?—17(a—b)— 60 a1 Hud= 3re=a Greflerdeh! i ?
(1) (@a—b-12)(a—b+5) (2) (a=b+12)(a—b-5)
(3) (a—b+20)(a—b-3) (4) (a—b-20)(a—b+3)

(3x +7) & THEEAT AR T ‘x’ AT T 1 Geilideh! shivid! HEaT 379 7
(1) fowm g@en (2) =m wEn
(3) ¥ wE (4) e T

SPACE FOR ROUGH WORK
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37.

38.

39.

40.

41.

2
Abdul covered gth distance between the towns A and B by car and % the

distance by bus. Still town B is 15 km away. What may be the distance between
the town A and B ?

(1) 105 km (2) 450 km

(3) 75km (4) 150 km

The capacity of a bucket i1s 10/ If it is to be filled to its full capacity, how
many bottle of 1.25/ will have to be emptied in it?

(1) 8 bottles (2) 80 bottles

(3) 10 bottles (4) 100 bottles

If a supplementary angle of an angle’s complementary angle is 108°, find the
measure of the angle.

(1) 72° (2) 18°
(3) 98° (4) 198°

In the adjoining figure, the diagonal of a square is 12cm. Find the length of
every side.

&
+ O 4
(1) % cm | 2) 6 cm
(3) 122 cm 4) 6y2 cm
(0.3)2 + (0.1)2 — (0.2)2 = ? (Select two correct options)
(1) 0.6 (2) (0.36)%
(3) 0.0036 (4) 0.06

SPACE FOR ROUGH WORK
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37.

38.

39.

40.

41.

3FegE A TETITET B T SoaTene) Tgor Siaael £ S Aierdi o 5 A we IR
el T IS BT 15 feheliHfiet g 311g T A 9 B Tameie A fohcll 318 7

(1) 105 feret (2) 450 foprft

(3) 75 ferrft (4) 150 foprft

ThT e gRehdl 10 Tiie T8, & STaelt JToaT qui SRuTard! Fedl Tiiet qrosrea fohdt
slceddl Hldled] le‘ld‘.‘l("l?

(1) 8 smeea (2) 80 seean

(3) 10 smee (4) 100 sTEe

TehT ST I ehehlH 108° 318 T AT A AT .
(1) 72° (2) 18°
(3) 98 (4) 198°

ISR <A el 12 T TR, T AT Yo SIS el el

£
€ \‘,\, 1
6
(1) ﬁ@":ﬁ (2) 6@t
(3) 122 =t (4) 6y2 @t
(0.3)2+(0.1)2—(0.2)? = Tt ? (GM 3= T FHaet.)
(1) 0.6 (2) (0.36)"
(3) /0.0036 (4) 0.06

SPACE FOR ROUGH WORK
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0%
BOXRX
A%
BOXR)X
0%
BOXR)X
5T
LEE 42,

5, 3 Four vertices of a square lie on the circle as shown in the figure. The center of
HxA TR

. . ¢ ) . . . .
frlafels) the circle is 'O  and radius is 7cm. Find the area of the shaded portion.
LS
'

L2

a0

L2 0

a0 .

LR

a0

LR

a0

LR

lejels) (1) 54 sq. cm (2) 55 sq. cm
(3) 56 sq. cm (4) 57 sq. cm

43. In the adjoining figure, /, m, n are parallel lines. mZDAO = 60°,
mZ/0OCE = 35°, then mZAOC = ?

L A /
67

| 35

E C

(1) 25° (2) 95°
(3) 85° (4) 105°

\

v
3

A

A

\
S

44. Which of the options given below are incorrect statements? (Select two correct
alternatives)

a. A ray has a midpoint.

b. A line has a midpoint.

c.  Chord of a circle has a midpoint.

d.  Perpendicular bisector of a line segment passes through its midpoint.

1) a (2) b

(
(3) ¢ (4) d

SPACE FOR ROUGH WORK
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42.

43.

44.

T Id grafaedT JHT0l Tehl =SRET= =R &1 RRifag adarer 3. ader Breen 7 &t 9

%eg ‘0’ 3R, T Gifhd TR 8% Hial.

.0
(1) 54 =iae (2) 55 =
(3) 56 =aH (4) 57 <
R I/, m 9 n I FHAGRE 3M&d. mLDAO = 60°, m ZOCE = 35° ®
m /AOC = feet ?
D A /

A A
u w..
N
O &;c(
(98]
“
C) 3
\ \ \/

(1) 25° (2) 95°
(3) 85° (4) 105°

QTeiietiehl el faam o ? (TH 3T<eh g Haet.)

a.  [RTUTTEAl Ush Hedforg 3Tl

b. VT T HeAforg ITEL.

c. TSI Sda Teh HeAferg 3TEal.

d. TGS AgHTSIh =T HEAfeigqd STl

(1) a (2) b
(3) ¢ (4) d

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

Which of the following terms, when added to the binomial 1 + 6442b2, will
make it a perfect square? (Select two correct alternatives)

(1) 16 ab (2) 8 ab

3) -8 ab 4) -16 ab

By which of tests, A ABC and A DCB from the given figure will be congruent?

A D
B C

(1) SSS test (2) SAA test

(3) ASA test (4) SAS test

Find the ratio of x and y, if a number is 20% of ‘x’ and another is 25% of ‘y’.
(1) 5:4 2) 4:5
3) 2:3 4) 3:2

The weight of 20 students from a class is given in the frequency table. Find the

mean of their weights. (Select two correct alternatives)

Weights of the students (in kg) Frequency (f)
20 11
21 8
22
(1) 20 kg 50 gm (2) 20.5 kg
(3) 20.05 kg (4) 20 kg 500 gm

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

1 + 64 o2 b* & afSteh WM U o1 JoATETd! Wiefiel Uehl I HEATE BT AR 7

(B o1 W faer.)
(1) 16ab (2) 8ab
(3) —8ab (4) -16ab

3Thciidiadl AABC @ ADCB ShivTcT hald Tehed BITd ?

A D
B C
(1) semen (2) dThIRI
(3) shraenl (4)  @TeprEn
T T (x) o 20% I GEO WA () 9 25% M 3Aed @ x o I UM HIaT.
(1) 5:4 (2) 4:5
(3) 2:3 (4) 3:2

TehT FIidia 20 foemei= a9 (YOi fhainia wedl) @iciial YW1l Mg caTae faenest=a
oM HEIUH e, (S T T fHaer.)

foeneatar a9 (x) (qof ferctiomm wed) IRATAT (f)
20 11
21 8
22
(1) 20 fepemrm 50 7m0 (2) 20.5 fereaim
(3) 20.05 feraTnig (4) 20 feretirm 500 7w

SPACE FOR ROUGH WORK
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Tl

X%

Tl

XN

Tl

XXX

A% . . . . .

WA 49 [ ABCD is a cyclic quadrilateral. Point E lies on the ray BC as B — C — E.
Hs

e If m £ DCE = 95°, then m £ DAB =?

NN

A% A

RN

A%

e B

LR

AO%A %

e D

A(EA(X

A

Ei=e EC
(1) 85° (2) 95°
3) 190° 4) 170°

50. From a rectangular thermocol sheet with dimension 20cm X 10cm, a rectangular
piece of 2cm X Scm dimension is cut. Which of the following sentences will
be correct for the thermocol sheet?

20cm
=
ol e
=
(1) Perimeter will increase (2) Perimeter will decrease
(3) Perimeter will remain same (4) Perimeter will get doubled

51.  Find the incorrect statement from the following:
(a) Every prime number is a natural number.
(b) Every rational number is a real number.
(¢) Sum of any two prime numbers is an even number

(d) HCF of twin prime numbers is 1.
() a (2) b
(3) ¢ 4) d

SPACE FOR ROUGH WORK
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49.

50.

31.

AArpdid L1ABCD =shl =it 8. foor BC a1 foig E 3@ 3@ it B - C - E.

m/DCE =95°d m /DAB = ferd1 ?
A

(1) 85° (2) 95°
(3) 190° (4)  170°

TSI SARIATRR 20 Tt x 10 Tt AT omiehict Mened 2 THf x 5 Tl A= STRIATEhR
qheT ShTIAT T T UHThI ISHTS! GITierdshl shivTd Tl 3T[eh 377 ?

20 g+t
3 ]
(1) uftfedt ae. (2) uftft =t 8ga.
(3) ufifidt dadi=r TEa. (4) it goe BEa.
e Tehl Feh faem ez

a. Tcd%h BEEAl g Gk TEAl 7.

b. I YRHIEET § arad &A1 3TEd.

c. HIVCATE H HosuEAT= s’ "l guEed Ad.
d. Ieqe Tl Haifd 1 3.

1) a (2)

( b
(3) ¢ (4) d
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52.

53.

54.

In the figure, line / and m intersect in point O. Find the value of y’.

(1) 164° 2) 56°
(3) 34° (4)  146°

Read the following statements and select the correct alternative. (Two correct
options)

(A) The numbers divisible by 3 and 4 are divisible by 8.

(B) All numbers that are divisible by 2 and 9 are divisible by 18.

(C) The numbers divisible by 6 and 10 are divisible by 2.

(1) Statement ‘A’ incorrect (2) Statements ‘B’ and ‘C’ are correct

(3) Statements ‘A’ and ‘B’ are correct (4) Statement ‘C’ incorrect

Which of the following conditions should be given to make the total surface area

of a sphere and cylinder to be equal?

(1) Diameter of a sphere should be equal to the radius of a cylinder.
(2) Radius and height of a cylinder is equal to the radius of a sphere.
(3) Radius of a cylinder should be double the radius of sphere.

(4) Height of a cylinder should be equal to the diameter of the sphere.

SPACE FOR ROUGH WORK
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5§2.  SATHdId W1 £ m WER O foigd sadra at <y’ = fohra el

(1) 164° (2) 56°
(3) 34° (4) 146°

§3. @i fag™ 9=t 9 I 99 fHaet. (GH 3Tee 99 fHaen)
A) 3947 faarsa FHo= ¥9 GE § J sy TEdn.
) 2997 faursy srEum=n wd T 18 3 faursy .
&) 6 10 7 favrsy o= 99 ' 2 | faursy e,
(1) faum ‘31 smmy (2) foam 9 3 ‘& ==
(3) faam *r’ 7 9 Ay (4) faum ‘& sEm

54. <A THU IS8, 9 AT J5hed THM BIVAHIE! WTefiel Jehl iU 31¢ T

TSR S, MAT=dT AT Uaa! gal.
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5S.

56.

57.

S8.

59.

A fruit seller purchased 48 dozen bananas at the rate of Rs. 48 per dozen.
1 dozen bananas were spoiled. He sold the remaining bananas at Rs. 72 per

dozen. How much profit or loss did he incurr in this transaction?

(1) Rs. 1080 loss (2) Rs. 1080 profit
(3) Rs. 72 loss (4) Rs. 48 profit

In a cuboid shape tank, water is being poured from the tap at the rate of
60 //min. The capacity of the tank is 108 cu.m. How much time will be required
to fill the tank to half of its capacity?

(1) 10 hrs. (2) 3 hrs.
(3) 30 hrs. (4) 15 hrs.

What will be the compound interest on Rs. 30,000 at the rate of 12% p.a. in

l%years‘?
(1) Rs. 5400 (2) Rs. 6516
(3) Rs. 5696 (4) Rs. 5616

Using the digit only once, from one digit prime number form the greatest and
smallest 4 digit number. Which of the following options will not divide the
difference between these numbers completely?

(1) 3 2 5
3 9 4 7

Which of the following options is not a pythagorean triplet?
(1) (G, 4,5 () (7, 24, 25)
(3) (8, 15, 17) 4) (5, 13, 14)

SPACE FOR ROUGH WORK
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SS.

56.

37.

S8.

59.

TehT BTIshedd 48 U ST IT U 48 T hadl faehd Udell. Tdell 1 SIF hodl
TrEeht. Jelelt ad Hedt 72 TN I AT U fashell T AT SAGERIE T T HATAT bt
dqrer? ferdt w0 ?

(1) drer, 1080 T4 (2) I, 1080 ®9

(3) drer, 72 39 (4) <1, 48 T

TehT SfSIehTieId! SATShRI=AT YTUIT=AT 2Tehld et fHieratt 60 e IT 2 Teh BT JToft
Ugd 3R, TEhie gRehal 108 THIeT 318, oX ot erehl Aeff swuamandt fohet des amiet ?
(1) 107 (2) 3am

(3) 309 (4) 15d™

T 12% 20 30,000 399 1Y5 a9t <shdTe saTST fehd! 815 7
(1) 5400 T (2) 6516 9
(3) 5696 &9 (4) 5616 T9

Ueh 34@ H@_{T@?ﬁﬂ W Uehgld dM9%d dI EIUMAT HISTd HISIT d daldld ddald i
37eh! T BLehIeT Wietied 9ehl ShivTea Ty .99 9HT SR =&t ?

(1) 34 (2) 53

(3) 94 (4) 73

Qe Teh! ShIvTdT TEATHYE THmEe Frepe amdh ?
(1) (3, 4,5) (2) (7, 24, 25)
(3) (8, 15, 17) (4) (5,13, 14)
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60.

61.

62.

63.

64.

—11
What is the product of two integers between which -9 lie?

13
(1) 65 2) 90
3) -72 4) +72
((11639)+2__11 = How much?
(O 171 (2) 168
3) 169 4) 170

I had to give Rs. 7 change to Rickshaw uncle. I had enough coins of Rs. 1,
Rs. 2, Rs. 5. Then in how many ways can I pay him?

(1) 6 ways (2) 3 ways
(3) 5 ways (4) 4 ways

The average age of Ria and her 4 friends is 24 years. Their ages are (3m — 2),
2m + 7), (4m — 7), B3m), (3m + 2) respectively. Find the value of ‘m’

(H 7 2) 9
3) 38 4 5

As the rate of ticket of a play increased by 25%, the sale reduced by 15%. What

is the rise or fall in the total income?
(1) 6.25 % rise (2) 6.25 % fall
(3) 12.5 % rise (4) 12.5 % fall

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

64.

—_11319 € af T 91 GF iRl SO ST <1 qUITshTe TR fehd ?

(1) 65 (2) 90
(3) -72 (4) +72
169)>— 1

((13))2—1 = i ?

(1) 171 (2) 168
(3) 169 (4) 170

QearaTean ShehHT Well 7 T3 G2 T Bid. AIEAThs 1 %, 2%, 9 5 %, < i A1oft gl
T 7 & et TR < Iefie

(1) =@ 5 (2) R

(3) U= TR (4) =R TR

e 3 foem = Afofien aar=h auE 24 oy o1R, = 9 FHE 3m—2), Qm +7),
4m—7),3m),d 3m+2) I8 ART T ‘m’ = Tohma Frer.

(1) 7 (2) 9

(3) 8 (4) 5

Areehrean faferer=ht fohmd 25% aTecaT e @Y 15% HH! ST T THUT ICAATd 16 fohall
Te fohel ?

(1) 6.25 % a@ (2) 6.25 % =

(3) 12.5 % a1 (4) 12.5 % e
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65.

66.

67.

68.

69.

Which of the following are the factors of (a3 — 8b3) ?
(1) (a — 2b) (a* — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a® + 2ab + 4b?) (4)  (a — 2b) (a* + 2ab — 4b?)

The length, breadth and height of a cuboid is /" cm, ‘b cm, ‘A’ cm. If
[b = 60sq. cm, bh = 24 sq. cm, hl = 40 sq. cm, then find the volume of cuboid.

(1) 248 cu.cm (2) 240 cu.cm
(3) 600 cu.cm (4) 420 cu.cm

Solve the equation and find the value of x,
x—5 N x+2

5 ;. 0
() 0 2) 0.7
10 13
3 = @ 5

A semicircle is drawn over a diameter. The circumference of the semicircle is
72 units. /(BC) = /(AO) = [(OC). Find the permimeter of A ABC.

A 9) C
(1) 42 + 143 units (2) 5643 units
(3) 56 units (4) 424/3 + 14 units

Which of the following options is the co-efficient form of the polynomial
(x> — 4x)?

(1) (1, -4 2 d,0,0,0 -4, 0

3) (1,000, -4 4 (1,0,0,0,4

SPACE FOR ROUGH WORK
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6S.

66.

67.

68.

69.

(a3 — 8b3) T HAIIT Wetted Yehl whivrd ?
(1) (a—2b) (a*—2ab + 4b?) (2)  (a—2b) (a*—2ab — 4b?)
(3)  (a—2b) (a*+2ab + 4b%) (4)  (a—2b) (a*+ 2ab — 4b?)

TehT 3SR Siheoar=h ofielt, &l 9 It SThH [, b d h IR, [h = 60 <. T,
bh =24 =B, hl = 40 =.AH AR, TV AT 3hod™ TTHS HIEl.

(1) 248 =7 vt (2) 240 == o

(3) 600 == Tt (4) 420 == @i

WTefid T digat 9 “x < fohAa e

xg5+x§2=0
(1) 0 (2) 0.7
3 5 @ 5

A ABC =t 919 AC &1 SH U3 Adaqes hiect 38, Agaqesrd! IRl 72 Teheh 3718,
BC =AO0=0C 38d @ A ABC = qftfirdt e,

A O C
(1) 42+ 14/3 U= (2) 56Y3 UHsh
(3) 56 wH= (4) 42/3 + 14w
(x> — 4x) AT TZUGTE WIS FY WIeiel Jhl HIUTd ?
(1) (17 _4) (2) (17 07 07 07 _4a O)
(3) (17 Oa O’ 07 _4) (4) (la O’ 07 Oa 4)
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70.

71.

72.

73.

Sureshrao sold an article for Rs. 1962 and earned a profit of 9%. What was the

cost price of that article?

(1) Rs. 1900 (2) Rs. 1850
(3) Rs. 1950 (4) Rs. 1800

mo<L If m = 30 then n = 5. Write the equation of variation.

n
(1) m = 6n (2) mn = 150
(3) n=150m 4) mn =06

In APQR, angle bisectors of £Q and ZR intersect at point O. m £0O = 130°,

m ZP =7
P
130°
+
Q e
(1) 50° (2) 100°
(3) 80° 4) 130°

A farmer purchased a pump at Rs. 6600 after getting a discount of 12% on the

printed price. What might be the printed price of the pump?
(1) Rs. 7500 (2) Rs. 6500
(3) Rs. 5700 (4) Rs. 8500
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70.  GRTEH! Th IE] 1962 T0H fashed™ ST AheT 9% THT ST T T Wigl Thad

fereft ?
(1) 1900 &9 (2) 1850 T9
(3) 1950 T (4) 1800 &9

. mol SR S m=30 T n=>5. 7 F@ qefichw forer.
(1) m=6n (2) mn=150
(3) n=150m (4) mn=6

72.  APQR "8 £Q § /R ¥ Mg fog O Wedl 8gad & m L0 = 130° 38 @«

m /P =Thdt?
P
130°
%
Q - R
(1) 50° (2) 100°
(3) 80° (4) 130°

73. T AAHATH Teh HiYIY STUA TehHd1eR Iehel 12% e T 6600 Fame fHasra.

T HYIaT=T BT fohad fod 318@ ?
(1) 7500 &7 (2) 6500 &9
(3) 5700 T (4) 8500 &9
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%ggg Instructions for the Q.74 and Q.75. The sale and purchase of a merchant for the year
7R T

;:},‘:;?,‘;; 2017 for 3 months is shown through a bar graph. Observe it and answer the questions.
2222

T
e e | | |
E 0t I I [ Ll Bealer |
L T . . Y axis 1 cm = 1000 <
L e ' Index : Purchase
3R i
;(()ﬁ?)ﬁ I 8000 — HESHE HHEEHH Sale 1

()

© 7000 —

wn

16000 —

b

@-5000 —

e

S 4000 —

=

O 3000 —

| 2000 —

1000 —
< > X
April May  June
‘Months
v |

74. What type of bar graph is it?
(1) Divided bar graph (2) Joint bar graph
(3) Percentage bar graph (4) Simple bar graph

75.  Find the ratio of total purchase to total sale for the three months.
(1 7:3 (2) 10:13
(3) 13:10 4 7:5
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s 74 75 WIS FEAT : Tehl A=A G4 2017 Tefid oA afg==h widi-foshl saameramgi

TREfAAT 3T TR Wil Y= Icak fora.

74.

75.

10000 —| | - IREED
9000 —
T 8000 —

7000 —

6000 —
5000 —
4000 —

3000 —

2000
1000 —

P —— wd-fasht (vaama)

! | O p SerTeR 1R = 1000 59

it L S

\ 4

ToeTet TAWTORE IV TR 3118 7
(1) fawfa @ (2) ire TTeE
(3) AU WU (4) @TEn WATE

i afgrdier Thv G, TRl fershe SrERiet UIRH el
(1) 7:3 (2) 10:13
(3) 13:10 (4) 7:5
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